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interface Inf {
void mQ);

class Cls implements Inf {
void m();
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class Clsl {
final void mQ{}

class CIs2 extends Cls2 {
void mQ{}
}
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class Cls {

static int x;

int y;

static { x =1; } // 000000000 OOOOOOOOOO

{y=2;} // 0000000000000 OoOoooooooooo

}
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} while (0O );
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int[] a = {1,2,3};
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for (int x : a) {}
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int x = 0;

for (x : a) {}
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private void test() {
assert (y >x); //y>x 000
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private void test() {
assert (y >x): "yis"+y+"xis"+x; //y>x000
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BufferedReader
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Base[] a = new Derivl[2];
a[0] = new Deriv2(); // ArrayStoreException 000000
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ArrayList<Number> 1
List<Integer> 12

new ArrayList<Integer>(); //NG
new ArrayList<Integer>(); //0K
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List<Number> 1 = new ArrayList<Number>();

I.add(new Integer(1)); /7 OK

I.add(new Long(2)); // 0K
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public void m(List<? extends Number> Ist) {
Ist.add(new Integer(1)); // OO0 NG
Ist.remove(l); // 000 0K
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public class OuterCls {
public static void main(String[] args) {
OuterCls.InnerCls ic = (new OuterCls()).new InnerCls();

public void instancinglnner() {
InnerCls ic = new InnerCls();

class InnerCls {
public void printParent() {
System.out.printin(OuterCls.this);
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